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3. (a) 5 ure 43 fire (b) 19 Wz 40 fiie
(¢) 12 urz 50 fie (d) 8 we 20 fiie
4. (a)2 ¥id 14 fie (b)12 Uiz 9 fHe
(¢) 07 Uiz 50 fHe (d) 5 we 50 fije
5. 6uie 35 e 6.9 ure 10 iz
7. 3uig 55 fie 8. 1uer 55 fiie
Mg 6.4
1. do=dl, 96, 98T’
2. A&=dl, H'd9, HET, §&™El, #diA3, Md3qd, €HYd
3. gd<=al
5. aEHT e g - 9o
Agel ©PHT g e - ©Hgd
6. 80 fes
7. 202 fes
8. (a) 170 (b) 8 (c) 32
MiaH 6.5
1. 5,4 2. 50279 3.2
4. 29,28 5.28 6. AH='g

7. A&=dl, H'dd, HET, OB'e T, MalA3, Md34ud, THYd |

rﬂﬁﬁ afes-4

su-feashiE uas (MCQ)
(a) 2. () 3. (b)
(d 5. (c) 6. ()




